N1=
=\J INJ

Wishbone

Axial Joint

Tie Rod End

Track Control Arm
Ball Joint
Stabiliser Link
Bush (Bushing)

1S0 9001

1S0 14001
BUREAU VERITAS

www.teknorot.com

info@teknorot.com

SUSPENSION PARTS

TESTIONOT
“March New [tems



P

MARCH 2015 NEW ITEMS

(G'E(ﬂﬂl?ﬂf

Adapted for Years
1 AUDI A6 (4G2, C5) 04/2011 -
Tek ref Description OEM NO Notes
A-830 AXIAL JOINT 4G0423810A M16x1.5/ L=236
Only : EPS Steering
2 AUDI A8 (4H ) 08/2010 -
Tek ref Description OEM NO Notes
A-833 AXIAL JOINT 4H0422810 M16x1.5/L.=226
3 AUDI A8 (4H) 08/2010 -
Tek ref Description OEM NO Notes
A-830 AXIAL JOINT 4G0423810A M16x1.5/ L=236
Only : EPS Steering
4 BMW 1-SERIES F-20 10/2011 -
Tek ref Description OEM NO Notes
B-349 LINK STABILIZER (RH) 31306792212 L=310mm
5 BMW 1-SERIES F-20 10/2011 -
Tek ref Description OEM NO Notes
B-350 LINK STABILIZER (LH) 31306792211 L=310mm




(P ' dTE(ﬂDI?Df
Adapted for Years
6 BMW 3-SERIES F-30 2011 -
Tek ref Description OEM NO Notes
B-349 LINK STABILIZER (RH) 31306792212 L=106mm
7 BMW 3-SERIES F-30 10/2011 -
Tek ref Description OEM NO Notes
B-350 LINK STABILIZER (LH) 31306792211 L=106mm
8 BMW 5-SERIES F-07 (GT) - F-10 - F-11 2010 -
Tek ref Description OEM NO Notes
B-910 TRACK CONTROL ARM UPPER LH-RH 31126775967
9 BMW 5-SERIES F-07 (GT) - F-10 - F-11 2010 -
Tek ref Description OEM NO Notes
B-914 TRACK CONTROL ARM REAR LH-RH 33326775902
10 BMW 6-SERIES F-12 - F-13 2011-
Tek ref Description OEM NO Notes
B-910 TRACK CONTROL ARM UPPER LH-RH 31126775967

Page 3



MARCH 2015 NEW ITEMS

Adapted for Years
11 BMW 6-SERIES F-12 - F-13 2011-
Tek ref Description OEM NO Notes
B-914 TRACK CONTROL ARM REAR LH-RH 33326775902
12 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008 -
Tek ref Description OEM NO Notes
B-910 TRACK CONTROL ARM UPPER LH-RH 31126775967
13 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008 -
Tek ref Description OEM NO Notes
B-908 TRACK CONTROL ARM LOWER RH 31126775960
14 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008 -
Tek ref Description OEM NO Notes
B-909 TRACK CONTROL ARM LOWER LH 31126775959
15 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008 -
Tek ref Description OEM NO Notes
B-915 TRACK CONTROL ARM LOWER RH 31126798108
31126775964

31126850782

Page 4



MARCH 2015 NEW ITEMS

Adapted for Years
16 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008 -
Tek ref Description OEM NO Notes
B-916 TRACK CONTROL ARM LOWER LH 31126798107
31126775963
31126850781
17 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008 -
Tek ref Description OEM NO Notes
B-914 TRACK CONTROL ARM REAR LH-RH 33326775902
18 BMW 5 GT 07 2011 -
H""‘-\-\""-'\-u.._-— -
Tek ref Description OEM NO Notes
B-908 TRACK CONTROL ARM LOWER RH 31126775960
19 BMW 5 GT 07 2011 -
—
Tek ref Description OEM NO Notes
B-909 TRACK CONTROL ARM LOWER LH 31126775959
20 BMW 5 GT 07 2011 -
Tek ref Description OEM NO Notes
B-915 TRACK CONTROL ARM LOWER RH 31126798108
31126775964

31126850782

Page 5



(P ' dTE(ﬂDI?Df
Adapted for Years
21 BMW 5 GT 07 2011 -
Tek ref Description OEM NO Notes
B-916 TRACK CONTROL ARM LOWER LH 31126798107
31126775963
31126850781
22 CHEVROLET CRUZE 2009 -
Tek ref Description OEM NO Notes
CH-143 AXIAL JOINT 13278358 M16x1,5 - L=295mm
23 HYUNDAI SANTA - FE (DM) 111 09/2012 -
Tek ref Description OEM NO Notes
HY-833 AXIAL JOINT 57724-2W000 M16X1,5 - L=328mm
24 KIA CARNIVAL (UP) - SEDONA 08/1999 - 10/2001
Tek ref Description OEM NO Notes
Kl-224 AXIAL JOINT RH 0OK55232250 M14x1.5 - L=308
25 KIA CEED |1 05/2012 -
Tek ref Description OEM NO Notes
HY-388 WISHBONE (WITH BALL JOINT) RH 54501-A6200

Ball joint is HY-380

Page 6



(P ' dTE(ﬂﬂl?ﬂf
Adapted for Years
26 KIA CEED II 05/2012 -
Tek ref Description OEM NO Notes
HY-389 WISHBONE (WITH BALL JOINT) LH 54500-A6200 Ball joint is HY-380
27 KIA CEED II 05/2012 -
Tek ref Description OEM NO Notes
HY-380 BALL JOINT 54530-35100
28 KIA CEED II 05/2012 -
g
Tek ref Description OEM NO Notes
HY-296 LINK STABILIZER FRONT 54830-0U000 L=282mm
54830-4L.000
29 KIA CEED II 05/2012 -
5 ===
Tek ref Description OEM NO Notes
HY-383 AXIAL JOINT 56540-A6000
30 KIA CEED |1 05/2012 -
Tek ref Description OEM NO Notes
HY-386 LINK STABILIZER REAR (LH & RH) 55530-3R000 L=88mm

55540-3R000

Page 7



MARCH 2015 NEW ITEMS

Adapted for Years
31 KIA PICANTO 2011 -
Tek ref Description OEM NO Notes
KI1-430 BALL JOINT (RH & LH) 54530-2K000
32 KIA PICANTO 05/2011 -
Tek ref Description OEM NO Notes
Kl1-433 AXIAL JOINT 57724-1Y500 M14x1.5- L=183
33 KIA SORENTO (XM ) 11/2009 -
Tek ref Description OEM NO Notes
KI-150 AXIAL JOINT 57724-2P100 M16x1.5 - L=187mm
34 KIA SORENTO (XM ) 11/2009 -
Tek ref Description OEM NO Notes
KI-153 AXIAL JOINT 57724-2P000 M16x1.5 - L=187mm
with air groove
35 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
HY-138 WISHBONE (WITH BALL JOINT) RH 54501-2Y000 BALL JOINT is HY-134

54501-2Y002

Page 8



MARCH 2015 NEW ITEMS

fe'E(naﬂaf

Adapted for Years
36 KIA SPORTAGE (SL) 07/2010 - ‘ E
Tek ref Description OEM NO Notes
HY-139 WISHBONE (WITH BALL JOINT) LH 54500-2Y000 BALL JOINT is HY-134
54500-2Y 002
37 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
HY-134 BALL JOINT 54530-35000
38 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
HY-136 LINK STABILIZER FRONT (LH & RH) 54830-25200 L=267mm
39 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
HY-131 TIE ROD END RH 56820-2S000 M16X1,5
40 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
HY-132 TIE ROD END LH

56820-2S050 M16X1,5

Page 9



(P ' dTE(ﬂDI?Df
Adapted for Years
1 KIA SPORTAGE (SL) 07/2010 -
=
Tek ref Description OEM NO Notes
HY-386 LINK STABILIZER REAR (LH & RH) 55530-3R000 L=88mm
55540-3R000
42 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
HY-133 AXIAL JOINT 57724-25000 M16X1,5 - L=183mm
43 KIA SPORTAGE (SL) 07/2010 -
Tek ref Description OEM NO Notes
K1-420 LINK STABILIZER FRONT 54380-3U000 L=267mm Mod,Type :
54830-3U000 08/2013 -> ( 2.0 GDi 4W4)
44 LEXUS IS (JCE1-GXE1) 200-300 04/1999 - 07/2005
Tek ref Description OEM NO Notes
LX-106 LINK STABILIZER 48820-22041 L=106mm
45 MAZDA CX-5 (KE) 11/2011 -
Tek ref Description OEM NO Notes
MA-801 TIEROD END KD31-32-280 M14X1,5

Page 10



MARCH 2015 NEW ITEMS

(G'E(ﬂﬂl?ﬂf

Adapted for Years
46 MAZDA CX-5 (KE) 11/2011 -
Tek ref Description OEM NO Notes
MA-803 AXIAL JOINT KD31-32-240 M14X1,5 - L=304mm
47 MITSUBISHI ASX (GA,W) 02/2010 -
Tek ref Description OEM NO Notes
MI-478 WISHBONE WITH BALL JOINT (RH) 4013A428 Ball Joint is M1-474
4013A282
4013A010
48 MITSUBISHI ASX (GA,W) 02/2010 -
Tek ref Description OEM NO Notes
MI-479 WISHBONE WITH BALL JOINT (LH) 4013A427 Ball Joint is M1-474
4013A281
4013A009
49 MITSUBISHI ASX (GA,W) 02/2010 -
Tek ref Description OEM NO Notes
MI-474 BALL JOINT (LH & RH) 4013A427*
4013A281*
4013A009*
50 MITSUBISHI ASX (GA,W) 02/2010 -
L3
Tek ref Description OEM NO Notes
MI-481 TIE ROD END (LH & RH) 4422A052 M14X1,5
3817.74
MR476457

4422A018




MARCH 2015 NEW ITEMS

(e'anaﬂaf

Adapted for Years
51 MITSUBISHI ASX (GA,W) 02/2010 -
k——-
Tek ref Description OEM NO Notes
MI-473 AXIAL JOINT 4422A058 M14X1,5 - L=340mm
52 MITSUBISHI ASX (GA,W) 02/2010 -
Tek ref Description OEM NO Notes
MI-470 LINK STABILIZER FRONT MN101368 L=265mm
5087.58
53 MITSUBISHI ASX (GA,W) 02/2010 -
Tek ref Description OEM NO Notes
MI1-486 LINK STABILIZER REAR RH MN184194 L=80mm
5178.49
54 MITSUBISHI ASX (GA,W) 02/2010 -
Tek ref Description OEM NO Notes
MI-487 LINK STABILIZER REAR LH 4156A014 L=80mm
5178.48
55 NISSAN MICRA (K12) 2003 - 07/2006
Tek ref Description OEM NO Notes
N-423 AXIAL JOINT 48001-AX602 M14x1,5Rht - L=200mm

- Year >07/2006

Page 12



MARCH 2015 NEW ITEMS

Adapted for

(e'anaﬂaf

Years

56

NISSAN MICRA (K12)

08/2006 - 2011

=

Tek ref Description OEM NO Notes
R-423 AXIAL JOINT 7701475841 M14x1,5Rht - L=305.5mm
- Year 08/2006 >
57 NISSAN PIXO (UAO) 06/2009 -
Tek ref Description OEM NO Notes
SZ-333 AXIAL JOINT 48830-M68K00 M12x1.25 - L=272
58 NISSAN TEANA 2009 -
Tek ref Description OEM NO Notes
N-643 AXIAL JOINT D8521-JA00A M14x1.5 - L=204mm
59 RENAULT MEGANE | 01/1995 - 08/2003
Tek ref Description OEM NO Notes
R-510 AXIAL JOINT 7701469280 M16x1,5 - L=256mm
TRW Steering Year 1995-1999
60 SMART FORTWO (451 ) 01/2007 -
'_—.—
Tek ref Description OEM NO Notes
SM-123 AXIAL JOINT part of M12x1.5

4514600051*
4514600151*

Page 13



MARCH 2015 NEW ITEMS

(G'E(naﬂaf

Adapted for Years
61 SUZUKI ALTO V (GF) 01/2009 -
Tek ref Description OEM NO Notes
SZ-333 AXIAL JOINT 48830-M68K00 M12x1.25 - L=272
62 TOYOTA LAND CRUISER J100 VX 01/1998 -08/2007
o ﬁ
Tek ref Description OEM NO Notes
T-160 LINK STABILIZER FRONT 48820-60032 L=44,5mm
63 VOLKSWAGEN AMAROK 09/2010 -
Tek ref Description OEM NO Notes
V-246 WISHBONE (WITH BALL JOINT) UPPER RH 2H0407022B Ball joint is VV-245
64 VOLKSWAGEN AMAROK 09/2010 -
Tek ref Description OEM NO Notes
V-247 WISHBONE (WITH BALL JOINT) UPPER LH 2H0407021B Ball joint is VV-245
65 VOLVO XC 60 05 /2008 -
Tek ref Description OEM NO Notes
VO-688 WISHBONE (WITH BALL JOINT) RH 30881488 Ball joint is VO-680
31277526

31317666

Page 14



(P ' d TECIQrar
Adapted for Years
66 VOLVO XC 60 05 / 2008 -
Tek ref Description OEM NO Notes
VO-688S WISHBONE (WITHOUT BALL JOINT) RH 30881488* Without ball joint
31277526*
31317666*
67 VOLVO XC 60 05 / 2008 -
Tek ref Description OEM NO Notes
VO-689 WISHBONE (WITH BALL JOINT) LH 30881487 Ball joint is VV-680
31277525
31317665
68 VOLVO XC 60 05 /2008 -
Tek ref Description OEM NO Notes
VO-689S WISHBONE (WITHOUT BALL JOINT) LH 30881487* Without ball joint
31277525*

31317665*

Page 15




